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— At 10,000,000 10,000
—S3013& ol 3,000,000 3,000
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—=2X 32 40,000,000 40,000
OAlZ EHIRXld 10,344
— A degI] 2 oo sl
100,000 * 8CH 800
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— 02l ==cl 25,000 = 4CH 100
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A 4,000,000 4,000
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g0 2 N1 1,000,000 1,000
—ZA 225 WA 200,000 200
OXtgfd et 27,812
—AESE 4,500,000 =2CH 9,000
—48s= 5,253,000 * 2CH 10,506
— &4 8,306,000 = 1CH 8,306
401 Al HI YL SO 2,300 45,000 A42,700
01 AI&HI 2,300 45,000 A42,700
OFeTXIME HatX HMSA 2,300,000 2,300
405 AHatH S 900 500 400
01 ML ESF=H 900 500 400
OAMBE 2Tt 7Y 180,000 * 5K 900
272 XA He 362,000 314,000 48,000
F0=8 ofia 362,000 314,000 48,000
A2 HEEHAAY 212,000 172,000 40,000
401 AIEHIZ 208 162,000 122,000 40,000
01 AlZHI 160,000 120,000 40,000
OARZMEEAAI (L) 160,000,000 160,000
03 A&20HYI 2,000 2,000 0
OAMEMEHAANS (HAH) 2,000,000 2,000
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OfI=22 SsSEe ==Y ML BAH150
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OJte1el or2a25 =2 ZulSAH50m)
20,000,000 20,000
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20,000,000 20,000
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401 AIEHIZ 20| 35,000 77,000 A42,000
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